General Information:
This midterm is a sample midterm. This means:

e The sample midterm contains problems that are of similar, but not identical, difficulty
to those that will be asked on the actual midterm.

e The format of this exam will be similar, but not identical to the actual midterm. Note
that this may be a departure from the format used on exams in previous semesters!

e The sample midterm is of similar length to the actual exam.

e Note that there are concepts covered this semester that do NOT appear on this midterm.
This does not mean that these concepts will not appear on the actual exam! Remember,
this midterm is only a sample of what could be asked, not what will be asked!

How to take the sample exam:
The sample midterm should be treated like the actual exam. This means:

e “Practice like you play.” Schedule 55 uninterrupted minutes to take the sample exam
and write answers as you would on the real exam; include appropriate justification,
calculation, and notation!

e Do not refer to your books, notes, worksheets, or any other resources.

e You should not need (and thus, should not use) a calculator or other technology to help
answer any questions that follow.

e The problems on this exam are mostly based on the Worksheets posted on the Math 1152
website and your previous quizzes.

However, in your future professions, you will need to use mathematics to solve many
different types of problems. As such, part of the goal of this course is:

— to develop your ability to understand the broader mathematical concepts (not to
encourage you just to memorize formulas and procedures!)

— to apply mathematical tools in unfamiliar situations (Indeed, tools are only useful
if you know when to use them!)

There have been questions in your online homework and take-home quizzes with this
intent, and there will be a problem on your midterm that will require you to apply the
material in an unfamiliar setting. To aid in preparation, there is such a problem on this
sample exam.

How to use the solutions:

e Work each of the problems on this exam before you look at the solutions!

e After you have worked the exam, check your work against the solutions. If you are
miss a type of question on this midterm, practice other types of problems like it on the
worksheets!

e If there is a step in the solutions that you cannot understand, please talk to your TA or
lecturer!



e You have 55 minutes to complete this exam. It consists of 6 problems on 10 pages

Math 1152
Sample Midterm 2
Autumn 2016

Form A

Name:

OSU Username (name.nn):

Lecturer:
Recitation Instructor:

Recitation Time:

Instructions

;\ Soluhons

S~

including this cover sheet. Page 10 may be used for extra workspace.

If you wish to have any work on the extra workspace pages considered for credit, indicate
in the problem that there is additional work on the extra workspace pages and clearly

label to which problem the work belongs on the extra pages.

The value for each question is both listed below and indicated in each problem.

Please write clearly and make sure to justify your answers and show all work!

Correct answers with no supporting work may receive no credit.

You may not use any books or notes during this exam

Calculators are NOT permitted. In addition, neither PDAs, laptops, nor cell phones are

permitted.

Make sure to read each question carefully.

Please CIRCLE your final answers in each problem.

A random sample of graded exams will be copied prior to being returned.

Problem

Point Value

Score

1

12

2

18

30

40

100




Math 1152 - Sample Midterm 2 - Form A - Page 2
. Multiple Choice [12 pts]

Circle the response that best answers each question. Each question is worth 3 points.
There is no penalty for guessing and no partial credit.
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[oe]
III. Which of the following is necessary for the Ratio Test to be applied to Z ai?

k=0
g’A. a > 0 for all k£ eventually. B. a; is decreasing for all k eventually.
) o0
C. lim a;y = 0. D. Zak is an alternating series.
k—o0 pr
E. More than one of these F. None of these
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IV. Consider the series Zak and suppose ay > 0 for all £ > 0. Of the following
k=0
options:

i. Converge absolutely ii. Converge Conditionally iii. Diverge

which option below most correctly describes the possibilities for this series?

A.i. only B. ii. only C. iii. only

l D. Both i. and 11\ E. Both ii. and iii. F. i, ii, and iii.
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2. Short ‘Answer [18 pts]

Determine whether the following statements are True or False and briefly explain your
response.

2
I. [6 pts] The function L is unbounded at x = 0, so the improper integral / % dz
0
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3. Evaluate the following antiderivatives or find the definite integrals.
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4. [40 pts] Determine whether each series below converges or diverges. In order to get full
credit, you must fully justify your work by:

¢ Stating any convergence test you use and why the test applies.
¢ Explaining the conclusions of the test!

You may quote any results about p-series or geometric series, but you must clearly
explain why the type of series you are considering converges or diverges!

=~ 2k?
L Zk5+1 “ -n\ﬁ 15 a (qjcﬁdl FWY\&W‘,M k, so ‘h\., !m;(t ':m)f)gw‘e!m 1,

k=3
* Since \:5:( _5@0 %)r all k, We com aﬂlt\/ fmu% ('m]é{oaﬂ,fm -,Cé‘é
PR 22 K L
C, Loy -— 1 ars = | = - <
¢ S AL ) J { - Um - N e n =
ks & k541 ’/ \ 3‘33 L300 ka1 } l‘m )<S+\ !

i3 ks
‘Hrp \mn+ Gm;f:avxim -‘f*{ ensues ‘Hu‘f Z%S_H Q‘,‘.C}\ Z ‘L; w"
etter both convege or  koth  cliverge.
SNCG ZT‘} 1S a P—Seues w(‘m P>L '?, conuVeiTES
%
s Hence’ I L5 onwges

s 2 1k i iy | ] -
IL. z:(—l)’c [———‘:::kg] & Ths :i: qklrbvmjcmﬂ» but 1t “’“*"‘1 e cmpoyiy 0 check tot
k=1 . !
(26 VK o deemiig
\ Kkt \‘;\ }

G@c& J;’f‘ ’1050\@: r‘mumjmoe I.e. check (-
Ceo

2 i 1k
ALY

k= -
(Nwees . No'e, ﬁ: k)k? “ >0 Arall k, 50w can how apply
Root Test . )
1 24 L,) \
— K Tk _ i : = =, =4
L= E‘“;T LSS S

k=

k [ 2+ RN g4
Hlene, Z/ ) [H«)k’] CaNfIGe? abwiwf{y, L T Conoiles -



Math 1152 - Sample Midterm 2 - Form A - Page 8

I1L. Z 37’22_’“
k=1

Since lﬂ\:% >0 Jor all k, we can ue twe compasan st

Lk -1 1

Nb’ct ‘gic,o LW - O &% For‘d‘ ‘cwge ey\mﬁh K, }_r_;:\;) L|
ek c kR
. In k Va ‘
Hene, o all lage k, — ¢ - —é“
k ke
Since 2 I‘m IS p-senes with Ph'\ b converyes
Henee , Z MI; Cconverpes b\/ tle cwxPanSd\ lest
kot

V. gln<kf_1).
_N_ﬁ' In ;k:l: k- \n(\&’f(); s0 Thes is «le‘escqomg!.

We wed to Fnd o Jowomls for Mo P ue Con delrmine it
\\W‘ )Vp emchs‘

h=2&0

et o ke bk o
0
0\,: M—‘ng - M: "V\D\

Tts
o

- 2-1n3

Ay ~ !ﬂ ~\b: | », - —‘r\3

ag = ln 3 laf N,z o
Aq T et 1aS My= -lnd

\ v

b';‘ = lnwn- o ) M= =la lnal).
Hene,  lan My = lim [-;,\(M()] - el

n>»ce NS o

Sine \AT& v, ONE, i In ({‘;,) hveges -





